

KENAI PENINSULA BOROUGH

Purchasing & Contracting 144 North Binkley Street • Soldotna, Alaska 99669-7520 Phone: (907) 714-2260 • Fax: (907) 714-2373 www.kpb.us/purchasing

> MIKE NAVARRE BOROUGH MAYOR

MEMORANDUM

TO:

Mike Navarre, Mayor

THRU:

Valentina Sustaita, Acting Purchasing & Contracting Director \(\)

FROM:

Pat Malone, RSA Director

DATE:

December 29, 2015

SUBJECT:

Authorization to Award Contract for Application of Calcium Chloride 2016

The Purchasing and Contracting Office formally solicited and received bids for the Application for Calcium Chloride - Summer 2016. Bid packets were released on December 3, 2015 and the Invitation to Bid was advertised in the Peninsula Clarion, Seward Journal and Homer News on November 26, November 30, December 3, and December 7, 2015.

The project consists of offloading, storing and applying calcium chloride on gravel roads for dust control.

On the due date of December 17, 2015, ten (10) bids were received and reviewed to ensure that all the specifications and schedules were met. As per attached bid tabulation, the low bids for each region are as follows:

REGION	CONTRACTOR	BID AMOUNT
Central	Alaska Scrap & Recycling	\$28,881.58
North	Fowler's Dirt Works	\$16,546.20
West	Alaska Scrap & Recycling	\$31,856.22
East	Metco, Inc	\$10,645.32
South	Quick Draw H2O Service	\$25,081.16

Your approval for this bid award is hereby requested. Funding for this project is in account number 236-33950-43951.

FINANCE DEPARTMENT **FUNDS VERIFIED**

Acct. No. 236.33950.43951

Date: 12 131

CENTRAL REGION

BID TAB FOR: ITB16-014 Application of Calcium Chloride for Dust Control - Summer 2016

CONTRACTOR	Price/Pound		# of Pounds	Total Extended	
Foster Construction	\$	0.1020	317380	\$32,372.76	
Fowler's Dirt Works	\$	0.1000	317380	\$31,738.00	
Alaska Scrap & Recycling	\$	0.0910	317380	\$28,881.58	

DUE DATE: December 17, 2015 @ 2:00 PM

KPB OFFICIAL: Valentina Sustaita, Acting Rurchasing & Contracting Director

NORTH REGION

BID TAB FOR: ITB16-014 Application of Calcium Chloride for Dust Control - Summer 2016

CONTRACTOR	Price/Pound		# of Pounds	Total Extended	
Foster Construction	\$	0.0940	200560	\$	18,852.64
Fowler's Dirt Works	\$	0.0825	200560	\$	16,546.20
Alaska Scrap & Recycling	\$	0.0830	200560	\$	16,646.48
					<u> </u>

DUE DATE: December 17, 2015 @ 2:00 PM

KPB OFFICIAL: White Analysis (Noting Purchasing & Contracting Director

WEST REGION

BID TAB FOR: ITB16-014 Application of Calcium Chloride for Dust Control - Summer 2016

CONTRACTOR	Pri	ce/Pound	# of Pounds	Total Extended	
Fowler's Dirt Works	\$	0.1025	321780	\$32,982.45 \$31,856.22	
Alaska Scrap & Recycling	\$	0.0990	321780		
			,		

DUE DATE: December 17, 2015 @ 2:00 PM

KPB OFFICIAL: () (In the late of the late

EAST REGION

BID TAB FOR: ITB16-014 Application of Calcium Chloride for Dust Control - Summer 2016

CONTRACTOR	Pri	ce/Pound	# of Pounds	Total Extended	
Metco Inc.	\$	0.2100	50692	\$	10,645.32
			• .		
				•	

DUE DATE: December 17, 2015 @ 2:00 PM

KPB OFFICIAL: White Annual Sustaita, Acting Purchasing & Contracting Director

SOUTH REGION

BID TAB FOR: ITB16-014 Application of Calcium Chloride for Dust Control - Summer 2016

CONTRACTOR	Price/Pound		# of Pounds	Total Extended	
Quick Draw H2O Service	\$	0.1308	191752	\$	25,081.16
				1	
·				1.	
				1	

DUE DATE: December 17, 2015 @ 2:00 PM

KPB OFFICIAL: White Annual Contracting Director

Walentina Sustaita, Acting Purchasing & Contracting Director